AP Calculus AB Name:
7.1 day 2 HW

1. The slope field for a differential equation is shown at the right. Which statement is true for solutions of
the differential equation?
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2. The slope field for the differential equation — = ————will have vertical segments when
dx 4x+2y
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C. y=-x*only
D. y=0 only

E. y=0or y=-x

3. Which statement is true about the solutions y(x), of a differential equation whose slope field is shown at

right?
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Which one of the following could be the graph of the solution of the dj

above? (A)

(D)
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5. Which choice represents the slope field for d—} =cosx

dx
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. The calculator drawn slope field for the differential equation dy =
solution curve passing through the point (0,1) is also shown.
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A. Sketch the solution curve through the point (0,2).
B. Sketch the solution curve through the point (0, -1).
. The calculator drawn slope field for the differential equation g_y =
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A. Sketch the solution curve through the point (0,1).
B. Sketch the solution curve through the point (-3,0).

Xy is shown in the figure below. The

X+ Yy is shown in the figure below.



Match the slope fields with their differential equations.
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6, find the particular solution to the differential equation.

3x* and f (1)

10. If £/(x)



11. Construct a slope field for dy X
dx 2
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12. Suppose that a(t), the acceleration of a particle at time t, is given by a(t) = 4t — 3, that v(1) = 6, and that
s(2) = 5, where s(t) is the position function and v(t) is the velocity function.

@ Find v(t) and s(t) .
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(b) Find the position of the particle when t = 1. j Z
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